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d1 "kLRONO_kHK"s Ĥ NG-M En H",J=5l?G-Y/Hk |n >,"9YFa

^CF$kH9k#?@7" n = 1, 2, 3 · · ·#
1.1 i|~o (t = 0) K*1kuVY/Hk, |ψ(0) >= |n > (n = 1, 2, 3, · · · ) G"kH-"~o tK

*1kuVY/Hk |ψ(t) >raah#

1.2 i|~o (t = 0) K*1kuVY/Hk," |ψ(0) >=
∑

n

cn|n >G"kH-"~o tK*1ku

VY/Hk |ψ(t) >raah#

1.3 i|~o (t = 0) K*1kuVY/Hk, |ψ(0) >= c1|1 > +c2|2 > (?@7E1 6= E2) G"kH

-"3NLRONuV,"~o t = 0 K*1kuVKak~o tO$/i+ ?

d2 RkYkHuVH = C∈ G-RG-kLROKD$F"!NTsG=5lk*}LrM(k#

Â =

(
0 −i
i 0

)
(1)

2.1 m9NJ$,jrTC?lg" ÂN,jM (D9N,jM) H7F@kD=-N"kMr4Fs2

h#

2.2 ÂN,jM,PiD+:K"?YTCFb18MKJkh&JuVY/Hkr" 2 Daah#

2.3 3NLRONuV,"!Nh&JuVY/HkG=5lkH-"=l>lN,jMr@kN(O$

/i+? ?@7" θOBtG"k#

|ψ >=

(
(cos θ + sin θ)/

√
2

i(cos θ − sin θ)/
√

2

)
(2)

d3 l!5uVr"]8Oru1J,i?09k3RN?0rM(k3N3RNALrm"LVB

8r x"?0Lr p"]8ON]Fs7ckr V (x) H9kH"E5*O_kHK"sO"!Nh&KJ

k#

H =
1

2m
p2 + V (x) (3)

3.1 3lr5‘LR=9kH"i;R x̂" p̂N~?9Y-r9X8OI&Jk+?

3.2 =lr Schrödinger ==9kH" p̂OINh&K=5lk+?

3.3 Schrödinger ==K*1k"O_kHK"s Ĥ rq1#

3.4 =lrQ$F"]Fs7ck,!Nh&JVfM?WG"klgK" Ĥ NG-MH,J=5l?

G-!traah#

V (x) =

{
0 (x ≤ |a/2|)

+∞ (x > |a/2|)
(4)

d4 VAdn3KD$F"I$@&-$@&6[rRYh#3 TJe"lPbFN!?K++oi:"l

’K?/N@r?(kNG"+3KWC?LjKq/3H#
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